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Code-D

: Q“I‘:Isf‘m Questions

1. | Arrange wheat, cereals and food in such an order that the absolute value
of their price elasticity of demand decreases
(1) wheat, cereals, food (2) food, cereals, wheat
(3) cereals wheat, food (4) cereals, food, wheat
g, S 91 @F H Q@ HH § Fafea A B ST AT H g @ W qW 9 Y
(1) ¥, o, g (2) &, &, T
(3) e, T, @F @) o, @,

2. | If marginal utility of x was increasing through out rather than diminishing
asis usually assumed, then consuamer will consume
(1) onlyy : (2) both x and y but more of x
(3) cannot say (4) only x if she consumes x at all
IR x F diq SRR g S S b wHRGE: e S § 3 a9 @R 96 W@ 8, a9
T T .
1) %ﬁc"i-y | (2) x Ty I Wy A x
(3) & T ¥ (4) 3 x AR T8 X TN ITAT HEN

3. | Which of the following does not represent demand curve of a normal good.
(1) P,=30-D, (2) Dy=87-0.5P,
@ P.= %ZS_ (4) None of the above
P 3 & 9 @ 5w AR @ AT A SRR T
(1) P,=30-D, . @) D,=87-05P,
@ P=—> () v ¥ 3 9

X
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; Q“;ﬁf‘m Questions

4. | Under economic resource labour’ which one of the following is not inéludd
(1) Banker (2) ‘Machine operator |
(3) Manual worker (4) None of the above

| onffs darem s @ arefie Frfiea § § @9 @ afuic @ e

(1) & . Q) nfMwEms
(3) e ahe - @) sRw & § B¢ T

5. | Which one of the following is not a ‘firm’
(1) Bank ' (2) Cobbler shop |
(8) Car manufacturer (4) None of the above
Prffae & & #9 @1 05 B T 8
1 ¥ @) A g
(8) &R Ffa (4) STw 7 | B T

6. | Ifincome of a consumer increases, then for a normal good
(1) quantity demanded will increase
2 demand will increase
(3) both of the above
(4) none of the above
I T I H AT T ©, A oG B o
(1) w7 , @ wrad
(3) T ) S A B

7. | Which of the followmg is a cardinal measure ! ?

(1) Lengthofa field i’h meters (2) Ranksin class test

(3) Roll numbers of students (4) none of the above
Frefefee & & B-ar s A ¥ ?

(1) e A A (2) T v & AP
(3) Reniidt & srgis @) ST AN TE
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Question

Questions

If price of one commodity increases by 10% and that of another decreases
by 10%. Prices of other commodities remain constant and money income

also remains constant, then real income will

(1) remain contant (2) increase

(8) decrease . (4) all of the above gfe possible |

af% O awg B 979 10% o & qur gal & 10% gear & 1 gl awgelt @ 5 au ga o
Rex Tl 8, a9 arefs o =5

(1) Rex 2) &

(3) (4) STUE T+ H9a ®

Division of State’s resources between state and Panchayati Raj institutions
is usually decided by

(1) Planning Commission (2) Finance Commission

(3) Central government (4) State government

T & HETE B O T G T e $ A dea ar: R a2
(1) BT AGRT BT (2) fa SmEm &

10.

@) FT@EERam  (4) THEER AW

Largest share of national income in India comes from

(1) Primary sector 3 _(2) Secondary sector
(3) Tertiary sector }4) Export sector
o § U A H Jeean e o 3

O mPEAER (@ Rwawma

(8) Prefas® &% & (4) faid & §
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Question
No.

Questions

i § Iy

In mici-sixties, for some years India observed plan holidayﬂ. It wos because
of

(1) drought | (2) floods

(8) political instability (4) none of the above

o @ 3 T 1, 7 a9 3 R ARa 3 Ao SR wE | 9E e § R gen
Ol @ T '

(3) T el @) ST F & B T

12.

Estimates of poverty in India are dirived on the basis of
1) Economic Census

(2) Population Census :

(3) Door to Door survey by the State Government

(4) Sample survey by Central Government

s A P & ot @ R @ SR T R B S
(1) onfiE SEE

(2) SN TR

(3) U9 TR &R TR-HT HAET

) FT TR B LA T,

13.

Arrange following in mcreasmé order 0.1, 0.02, 0. 009, 0 0095
(1) 0.009,0.0095,0.02,0.1 -(2) 0.0095,0.009,0.02,0.1
(3) 0.1,0.02,0.009,0.0095  (4) none of the above
Frffe @t Tea g %4 ¥ sFakgd Hivw ¢ 0.1, 0.02, 0.009, 0.0095
() 0.009,0.0095,0.02,0.1  (2) 0.0095,0.009,0.02,01
3 0.1,0.02,0.009, 0.0095 (4)&@%'#%@#@1 |
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Question

No. Questions
14 | - o.i) (1+0.1)=? | _
1) 2.02 (@ 1-0.1+0.1-(0.1x1)
3) 0.99 ' : (4) none of these
(1-0.1) 1+ 0.1) =?
(1) 2.02 (2) 1-0.1+0.1-(0.1x1)
G099 - (@) ¥ 8 3K &

15.

(1.999 +0.001)% =?

(1) 1.‘9993 +0.001% + 3 (1.999)* (0.001) + 3 (1.999) (0.001)?
5

@ 2_2 +17-9

(4) All of the alI)ove

(1.999 + 0.001)2=? :

(1) 1.999%+0.0013+ 3 (1.999)?(0.001) + 3 (1.999) (0.001)?

25 :
2 > +17-9

(4) ST

16-

Maximum data dispersion is given by

(1) Variance { §

(2) Standard deviation

)i

(3) Range T 5 5

(4) None of these ,

ity o Jeboi Bt e o @

(1) fETTaEm = (2) N RERE AR
ORI @ T AP
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Question):

Questions

17.

| From the given statement

Statement : Some rats are birds. All the birds like mangoes

Conclusion I : All birds are rats

Conclusion II : Some rats like mangoes

(1) Only conclusion I follows
(2) - Only conclusion II follows
3) Bbth conclusions follows
(4) - Neither conclusion follows
Fo: g6 T O 81 el ol e wE B
Fropd [: ot ot @ &

Frepd 11 : 38 9@ o TT a3 ¥
Ry T o / |

(1) 3 Freed 1 orgeRa @

(2) e frend 11 : ogeia & ¥
@) o Pt oA AR E
4) #r frrepd aagaﬁa T

18.

In the evening, after office hours a person walks towards sun, then turns
to his'left, then to his right and then right again. Finally he turns left and
directly faces his house. His house faces

(1 North . '® South

3) East : (4) West

T H, FATE TG S 8, 05 Al G4 TG ol 8, eﬂ%maﬁmw% TR =
M A B, @Thﬂww%lmﬁmgm%aﬂiaﬁﬁ%mﬁq@am%:
W E

(1) SO H &R e (2) A SR
@) w & iR i @) wR=m % &R
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Ruestion Questions
] No.
19. | Statement : All women are married. Some women are doctors

Conclusion I : Some married women are not doctors
Conclusion II : All women doctors are not married

From the given statement

1) Both conclusions follow (2) Only conclusion I follows
(38) Only conclusion II follows (4) Neither conclusion follows
F : qf afeed Rafea €1 3p Rt Rifves ¥ |

e 1 : o fafea nfeand fftees & &)

Freed- 11 : @it afta Rt e =8 &1

Ra g Fuw @

(1) 2t Frept orafa 29 & (2) %aa Frept 1 orgafa & &
(3) #uw Mgy II orgaia 8 8 (4) # it Freed orgafa 7 o

20.

Relationship between mango, fruits, rice and curd is best represented by

OO0 Bl oo

®) %) @ @ 8

T, T, T S A e e o e e e

OO0 w 800

o) %) " @8
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- Question

No.

Questions

21.

Human Development Index takes 1nto account

(1) gender inequality (2) regional mequahty
(3) ~génerationa1 inequality - (4) none of the above -
(1), T rEmET = (2) &Y STE
@) rTE e ' (@) ovie ¥ @ B @

22.

Which of the following is not an argument in support of balanced growth
theory

(1) to make full use of economies of scale and specialisation

2 dJﬁ'e_re.nt sectors of the economy are interlinked

(3) to-avoid interssectoral bottlenecks :

(4) none of the above
ﬁwﬁﬁaﬂéﬂﬂ-magﬁaqﬁmm%mﬁ@a%ﬂﬁ%
) YR o suer aun RRRewr & Qo I

@) e & Sr-or e E § 3 ¥

(3) SicR-Zebig el | q9

(4) IR | IR T

23.

Accordmg to Lewis, supply of lébour at existing wage rate to industrial

sector.is ;

(1) .completely inelastic ﬂ(2) __positi{re

(3) negative . (4) completely elastic

T B FEK, N S5 A AUl O WA B YR ?
(1) Tl o (2) T

(3) T (4) wie: deeh
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b“ﬁ*:f‘m Questions

24. | Agriculture is the dominant sector of Indian economy because it has highest
share in
(1) National income (2) Employment
(3) Both of the above (4) None of the above
AT o T N % W A ¥ i s s s 3
1) T o F : (2) IFm F
(3) W &l | @) T q 5 T

25. | After independence, per capita availability of pulses in India has
(1) increased (2) decreased
(8) remained stationary = (4) none of these
WA B UvE, ARA ° arat @ oy ke SuweEr
1) @ 2 94 %
@ frR@E (4)s=ﬁﬁﬂﬁ%=|€r

26. | Decline in rate of inflation means

(1) Prices are dechmng

(2) Prices are increasing at slower rate
(3) Both of the above S
(4) None of the above r
IR B T F e @ o % 5
1) Fm R @ ¥ |

@ FTEIN A RIE RE

(3) SR A

@) IWE F A FE T

PG-EE-2013 (Economics) Code-D
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27. | Which of the following is not true of Indian agriculture development

(1) it is concentrated on few crops

(2) it is focussed on few regions

(3) it is not export oriented %

(4) it has seen balanced growth
ﬂﬂ?ﬂq?ﬁﬁﬁiﬁm%ﬁﬂﬁﬁﬂﬁﬁﬂ-maﬁﬁﬁ%

(1) B HEdl Wasa g (2 zrwsasﬁqr%ha%
(3) & i sfnpg 8 & @) T Hgfua ofs A @

28.

-As compared to developed countries, generally India has -
(1) lower levels of open unemployment

(2) higher level of disguised unemployment
(3) Dboth of the above
(4) none of the above

| ot 3 &1 ger A B T Y

(1) Gl UM F; AR T
2) g M F T &R
(3) SWE I

4) IRF § F FE &

29.

India has been cited as mixed economy because it has
(1) mix of agriculture and industrial sectors

(2) produces for exports as well as domestic market
(3) flourishing public sector as well "as';private sector
(4) none of the above

Wﬁﬁmww%wﬁmﬁ&mw%aﬂﬁssﬂ%w%
) FW qu e e @ iy |

(2) FrafT  ae-a oY IR & e sam

(3) - WG 5 » wrY-a fell S

@) SRF T A BE &
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estion .
No. Questions
30. | Since 1990’s economic policy in India has been characterised by

(1) reduced role of public sector

(2) increased role of multinational corporations
(3) both of the above

(4) only (2) above

1990’s & 9a ¥ onidfes Ny RfResa &

(1) P e @ wd g i aw

@) =g T B A 9 g g e

| @ vt am
@) %W W @) aw

31. | In an under developed country most abundant resource is
1) modern technology (2) underutilised capital
(3) savings | (4) none of these
T T R 39§ wed ge W @ |
(1) sy SenfE (2) &7 SwET o
(3) ==d e (4) ¥ § #8 T
32. | Per capita income as a measure of development is inadequate because

(1) itignores distributional aspects

(2) itignores sustainability aspects yo

(3) itignores and focuses on means | f

(4) all of the above

R & 79 3 &9 F ufr AR oy ol @ A
(1) 7= Raeeiy wegsl & SO v @

(2) 7& Wi qegelt H SV Fr ¥

(3) 7® RO @ e F ¥ q A W A T B
@) SR d
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Q“;ﬁf"“ _ Questions
33. | In times of inflationary pressure, who will be most adversely aﬁ'ected
(1) Businessmen (2) Government '
(3) Pensioners ‘ (4) All will be equally aﬂected
Fﬁﬁﬁmﬂaﬁﬁ%wﬁ AR g0 aE A gwRE am
1) & (2) &R
(3) Teerh (4)%%@%%@3@%
34. | Fiscal policy deals with
(1) Rate of interest charged by banks
(2) Income polley of the government
3) Expenditure policy of the government -
(4) Both income and expenditure policy of the government
o i FEER R & '
(1) Eﬁmwmwaﬁﬂ%m
@) TR H A AT H
(3) R @ & i & §Y
(4) TIPR B IF T T A4 Al B G
35. Decrease in autonomous consumption will shift IS curve
(1) wup (2) will have no effect
(3) can not say (4) down
@ ST & 1S %6 %l ST
(1) I (2) ®E F9E TE e
(3) * & &I THd @ =
36. | Periods of increasing prices w111 lead to
(1) increase in employment (2) decrease in employment
(3) decrease in exports  (4) all of the above are possible
| 7ot g o @ ol & e
O ¥ RAgFEAER (@ T FH A &
3) ﬁahﬁwa%eﬂr (4) SR a §99 ®

PG-EE-2013 (Economics) Code—D
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No. Questions
37. | Unit of measurement of _MPC is

(1) Utils

(2) Rupees

(3) A pure number without any unit
(4) None of the above

MPC % A9 3t 31 8

(1) Utils

(2) - v9ar

3). R Bl 39 B % gw den

(4) SF ¥ q I T

38.

Higher levels of income tax for the rich will most likely lead to
(1) decrease in consumption of food '

2 lower enrolement-in schools

(3) decrease in demand for five star hotels

(4) lower expenditure on health

Tt 3 T e $ SEE WY gwaw: @

(1) @@ % 3049 # FH &t &R

(2) FEmd ¥ YR wd@ # &) _

(3) e R dedt @ Rie T F a9 A o

(4) W W YRR A9 3 W

39.

Change in aggregate consumption perunit of change in disposable income
is called ' R L |

(1) increase in demand

(2) decrease in demand - &

(3) income shift

(4) marginal propensity to consume

27 A o & e # 9 T we Sud ¥ qRed @ we b

(1) =F ¥ ghs (2) 9w 7 Ft

(B) I T=EE () T A i R

PG-EE-2013 (Economics) Code-D
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Question

Qﬁestions

40. |

Assuming that overtime prlces have been falling arrange following in
descending order of magnitude : Gross domestic product (GDP), Net
domestic product (NDP), disposable income (DI) at current prices,
disposable income (DI) at constant prices |

(i) GDP, NDP, DI at constant prices, DI at current prices

(2) GDP, NDP, DI at current prices, DI at constant prices

(é) NDP, GDP, DI at current prices, DI at constant prices
(4) None of the above |
wqmﬁgqﬁs%w%wiaaz@% Frefiifed 1 aRETT & ed g A °
i HIVC G B I (GDP), g8 93g S (NDP), A ol T 19
Wm@l),ﬁargﬁqtmmmml) :
(1) GDP, NDP, ReR 5wt W DI, &M g W DI

(2) GDP, NDP, adar #edt W DI, Re gt W DI
(3) NDP, GDP, ada gt W DI, e gt W DI -
@ SR daWaE ‘

41.

(1) True

In short run, a firm can make Iosses and yet continue to produce

(2) True only under some market structures
G de . . f ;;:
(4) Cannotsay : e
w1y o #, ©F 9 W B I ab'{ aﬁ 2
(1) ¥

@) FB IER w3 U a

@) &

@) Fe 7 T

' PG-EE-2013 (Econoinics) Code-D
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No.
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42,

By real income we mean

(1) II;come after reducing taxes

(2) Salary plus bribes collected minus taxes
(3) Both of the above

(4) None of the above

CISIEC R G Ll ol

(1) NEH 3 a8 a1

(@) % T I a0 R Ry

(3) ST I -
(4) I H § i &
43. | Which of the following cost curves caﬁ never have ‘U’ shape ?
(1) Total fixed cost (2) Total cost curve
(3) Average fixed cost (4) All of the above 5
ﬁwﬁﬂ@aﬁﬁmwwww‘vwwmaﬁam?
(1) T ®&E a ) IF W T
3 aﬁﬂa Rer @ra (4) ST Tt
44, | In case of perfectly competitive factqr gs well as product markets, with

increase in MSPL, wage rate will -

(1) increase ' © 2(2) decrease

(3) remain constant - (4) All of the above are possible

Tt SRET W 3 Ar-6r G IR S A0 A, MSP, # 8% 3 &, wgdl =
(1) s (2) "

(@) R @ (4) I Gf g B

PG-EE-2013 (Economics) Code-D
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Question
No.

Questions

45.

In an oligopolistic market, key characteristic it

(1) product homogenity (2) recognition of interdependence
(3) both of the above (4) none of thg ﬁbove_ . :
FeaaErd S H, g R ® :

(1) SR ST ' (2) SiafieRar B wEE

3) Gqﬁiﬁfa'\'vﬁ % (4) ST T | P35 @ -

46.

If average cost is rising, then marginal cost 3%

(1) is rising at a faster rate (2) isrising at slower rate

(3) maybefalling (4) all of the above are possible
7R olea ava ¢ @ ¥, a9 dnia A

1) FRTIAF/AE @ eﬁﬁruﬁaam%

@ ATEMEIE@ A (4) ST wR EE R
47. | When we use term ‘pr-oﬁt’,' it means .

(1) Normal profit - -(2) Supernormal profit

(3) Both of the above (4) None of the above

99 B9 A 9E F SN B &, T6H IIREE 2

(1) §EF (@ sfwmEE @

@) I A (@) ST § q #E T8

48.

(3) nothing can be said *(4) none of the above

ngher the slope of a tradmona].ly drawn demand curve, absoulute value
of price elasticity of demand willbe ' i

(1) lower Ay thher

WERRT &Y @ ST T AT 9 @ R S &, HiT e ged | B O A
(1) TR : (2) =K |
3) @Wﬁﬁww (4) ST ¥ § HE Tol

PG—EE—2013 (Economlcs) Code-D
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Questions

1@ @ P Fe R e ¥

(4) T AR & ST I A G | PR R

Marginal Revenue (MR) and marginal Revenue product (MRP)

(1) mean the same

(2) mean the same under some conditions

(3) mean different things '

(4) may mean same or different things depending on market structures
dinia o, (MR) @& @Wiq o9 3 (MRP)

(1) i PmE & TR

(3) T awgelt ¥ i B

50.
2@ Teaching in a Government School

Q) wEd ey ¥ e

Which of the following is not treated as ‘Production’ in modern ecomomics?

(2) Banking

(3) Defence Services

(4) None of the above

g ierer § Bt & @ m’%wﬁﬁﬁﬁmw?

(2) IHT
(3) T &ag |
(4) ST T A B T

51. | Wxth a]l the money in her pocket, a woman can buy either 40 apples or

30 oranges. If she decides to buy 14 appl{es as well as save 15% of total
money, how many oranges can shebuy

1 14 @ 15
3 16 (4) none of these

S 3 3w AR R, 'Iaﬁql%almamﬁaawaoaﬁ@ﬁwﬁ%mﬁaalma@ﬁaﬂ
% W9 & Y FW 0 B 15% FuH F ol ad B, @ 99 Rew g @den Tk

i a7 SR 7@ 15
(3) 16 4) ¥ F 35 78

PG-EE-2013 (Economics) Code-D

A1



1 sy

TR L el

| Code—D

52.

Question 3
No. . Questions
Generally which Indian state is ranked highest in terms of human

development index ;
(1) Haryana (2) Gujarat

53.

(3 Maharashtra ° (4) Kerala
ARE: ﬁmqnﬂhmaﬁwf&mmw%qﬁﬂwavﬁﬂwm%
(1) R | (2) TrE
3) meUE | @ ¥@
Proportion of GDP spent on education in India-is
@ (2) lessthan 1%
1’3 more than 6% (4) none of these
o & R W @ R mar GDP &1 are @ '
1) 6% (2 1% & 39
(3) 6% ¥ > @) ¥ & o 7@

54.

For a decade after mid nintees, employment in q§ganieed sector in India

| (1) increased rapidly (2) remained stable

(3) declined through out (4) declined and recovered
= P WF P T 3 R, wﬂmﬁahﬂm

1) ¥R @) R @
(3) TR e Tl 4 _Etera?r(_gw

55.

In recent past, centrel budget has bee:_; qjla:acberised by

(1) high borrowings (2) surplus

@) deficit - {8 botki (1) and (3)
| o & 3, 3t awe Frr a0 wEi o R

(1) s=w (@ s

(3) rer - (4) Q) mn (3) I

PG—EE—2013 (Econormcs) Code-D
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Questions

If arithmetic mean of a,b,c and d is e and sum of first two terms is f then|
the fourth term is equal to

1) ef @ (de4)/2

(3) it is not possible to ﬁﬁd it (4) none of these :
qﬁa,b,cmdwm-m'e%wmﬁ-wﬁwmf%, 9 S 7 o
(1) e-f ST () (4e-H/2

@) & s FTW w2 4) T & 2 78

57.

23+77(B+(7x3)+4)=?

1 16 | 2) it is not possible to find it
(3) 485 LiEn (4) none of these

2.3+ 7.7((3+(7Tx3)) + 4) = ?

ke R (2) T 79w g R

(8) 485 @) & 8 ¢

58.

| ) @ s o -

Standard deviation of age dlstnbutlon of boys inaclassis 1. 75 and that of
girlsis 2.0. It means :

(1) Girls have higher average

(2) Girls have more varied age

(3) Average age of girls is 0. 25 more than that of boys
(4) None of the above

ﬁreﬁmﬁasﬁﬁmﬁammmﬁim135%wa3ﬁaﬁasr20%:mw%

@ R A oy & sur o &
(8) wehel & sl oy wE B o 0.25 ot B
@) ST F @ 9 TE

PG-EE-2013 (Economics) Code-D
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No.

Questions

59.

If price of a commodity increases by 20%, then by what proportion should
a consumer reduce her consumption of this commodity to keep her
expenditure on this commodlty constant :

(1) ‘20%

(2) about 17%

(3) mnot possible to find out with the given mformatmn
(4) none of these

uﬁqasa@aﬂn@%%aamm% ﬁ@mﬁﬂﬁmmmaﬁaﬁ%mﬂ%m _
ST ITRRT Y R B FTH AT

1) 20%

(2) T 17%

@) @ gE A a6 BN o A
@ ﬂﬁ GEE

60.

(4) None of the above if

If a box has coins of Rs. 1, 2 and 5 only, and total number of coins is 100.

| Moreover, there are at least two coins of each denommatwn in the box.

Therefore.

(1) Maximum amount of money in box can be Rs. 486

(2) Minimum amomit.of money in box can not be less than Rs. 110
(6)) Both of the above ‘ :

F .

o o TR & B 1,27 5 5. %mﬁ%w@maﬁtm 100%15&%3@31:@?5
W%mamzm%;wm s

(1) = % o7 &t S T 486 5.

(2 T & o9 i g Wy 110 3. %maﬁia"twﬁ%
(3) Tl A

@) IR T | F}E
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P“ﬁﬁm ' Questions

61. | Share of labour employed in organised sector in India is about

total labour employed.
(1) 80% (2 50%
(3) 25% @ 10%
R W & & Frlifr o @ oir g PR o e el
1) 80% | @) 50%

3) 25% 4) 10%

62. | India follows

(1) Fixed exchange rate 2 Compléte convertibility
(@), PartislconverBbiiy . () Nouc of thea
(1) RR R TH (ZSE“fqﬁﬂﬁ?ﬁanH

3) a:rmqﬁaﬂasﬂamasr () T q &

63. | Objective of creation of spcial ec_onomi;: zones was to
(1) give boost to exporés

(2) . givé boost to imports T

(3) toincrease employment . | ‘ lg’ |

 (4) toincrease net foreign exchange earnings

Ritre o &5t & Ffor &l GEW Loali s

(1) fate & s

(2) oA F FgrET A

(3 AW g

@ g= PR R o @ = 2 R

PG-EE-2013 (Economics) Code-D
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| 64. | Which of the following is not true for Mahatma Gandhi N.ational Rural
Employment Gurantee Act ? :

(1) Gurantees 100 days of employment per family
(2) Gurantees 100 days of employment per persion
(3) Payment is based on ‘piece rate’ system

(4)  Use of heavy machinery is not allowed
-mwwmmmmm%mmﬁmﬁamwmaﬂ

(1) R 9RAR 100 R ISR ) TS I
@ s R 100 R A & MRS 3 @
3) wﬁ‘ﬂﬂﬁ’mweﬂmﬁﬁ%
(4) o A S W R

65. ‘De-industx:ialisation’ is a term associated with

(1) First three plans (2 Fourth to eighth plan
(3) British India (4) Mughal India

fy TEMET & Hefd & ' o
(1) ugm &= Ase & 9y () =t | At A
(3) fifest sa (4) T4 R

66. | In a square room 6 feet long, how many mats of two feet width and lengtht
1.5 times the w1dth can be placed ? i' H

i

1) 6 2) 12

3) g . (4) None of these .

TH 6 BT T FER B, aqﬂzaﬁ%waﬁgﬁ%wwmﬁﬁﬁmﬁ
fer o1 g%l & 7 _

(1)=6 9 @ 12

@ 8 S . (4)saﬁaaa%aa
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67.

Square root of 5 is closest to
1) 3 2 2 3) 23 4 22
b # agw Frbead B

68.

1) 33 2 2% (3) 23% 4 223

If a treasure is divided between A, B and C in such a way that B gets é—
of what A gets and C gets half of what B gets, then

(1) A gets half of treasure  (2) B gets %th of treasure

(8) C gets. % th of treasure  (4) None of the above

qﬁA,BmU%ﬁaﬁ%mwmém%ﬁsBaﬁAm%m%w
C % B & aem fer 8, a9 '

(1) AR T T o P ? (@) BRA @ a L Py

@ CAuwma Pt @ wow AR

69. | In economics, very long run means

(1) a period of at least 10 years _':- ,;
(2) time period after 10 years

(3) time period after 20 years ~ x
(4) None of the above '

YA 7, qga & oy @ oo B

(1) #FAFF9 1099 A sy (2) 109% F 9% A FHEEN
@ 2099 3 5% H TEEN  (4) IR X A B
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70.

By ‘normal’ goods, we mean

(1) goods used by normal persons

' (2) goods which nofmally all people use

(8) Whose demand decreases with increase in prices
(4) Whose demand increases with increase in income
e aRget |, s R @

(1) SR SRR ER S A o e A

(2) I N R G A IR FR E
| @ e # g F gfs 3w g .-
(4) Frme a o F ghe § A aed @

71.

If two trains start moving in perpendicular directions at speed of

50 and 60 kilometers per hour respectively. After one hour trains will be

-at a linear distance of

(1) 110km -

(2) more than80 km .
(3) less than 80 km

(4) none of these . o /

A 3 3 e Remolt & s 50W60ﬁ7‘ﬁ nﬁwaﬁwﬁr%mmg&mﬂ?
¥ u% 9 qvEE 3 B Q W{ﬁﬂﬁ'ﬁl .

.(1) lloﬁssfr

(@ 80 R A i

€)) soﬁ;nffam
(4 I 9 FF 7
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Q“;‘f"“ Questions
72.

If in a game of 3 blue balls, 5 red balls and 2 white balls, probability of

winningis =, what is the probability of loosing

» = ® —

-

.

3) (4) None of these

o 3 A6k 7, 5 e 6 e 2 @< S Pt 2 hd 4 s 2 #, W
F R R

» - B
o @) 2 B

73.

If width is doubled and length is reduced by %rd Ailiinithe twn o rpitaviged

(1)_ increase by %rd (2) decrease by %rd '

(3) doubled (4) none df:hese

3% e B WA R o ¥ e w_E @ %rﬁ.ﬁmmm%,aawm
Q) %rdﬁ 2 s @ %rd SR ‘,

(3 & T & (4) T q B T
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Question

No. Questions _
74, | If government spends more than its current revenue income, it will lead

to

(1) increase in employment (2) inflation

(3) both of these (4) none of these

IR YER SEH T S A § IE A B B, T F O
(1) IR 7 gfa &t X (2) TG # AR '
(3) T QI (@) T ¥ IR T

75.

Increase in marginal propensity to import will

| @) increasethe value of multiplier

(2) have no effect on multiplier
(8) same eﬂ'ect as that of increase in MPC
(4) none of the above

s & g i safy § s w -

| 7% % 9w & gfa

2) T | P gE T A
(8) MPC ¥ gf& %l T8 §9F I9M G ,
(9 SR A § g T = -

- 76.

Critical minimum effort thesm and big push theory of development are
(1) sl_:mﬂar to each other
(2) contradict each other
(3) unrelated

4 none of these
ﬂmwmﬁeﬂmaﬂrﬁaﬁmmwwm%
1) Qﬁiﬂi’%m'

2 T 3 R

(3) T

@) T & B8 T

'
I
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Nﬁ.. Questions
77. | For modernisation of economy, agriculture is a source of
(1) investible surplus (2) labour
(8) both of these (4) none of these
a4 e & sgfEE 3 R FY U Gig &
(1) ey 9y it - © W
(3) 7 @ It (4) M | K &
78. | Development trajectory of an economy is a function of
| (1) rate of capital formation (2) choice of technique
(3) beth of the above (4) none of the above
T Y, FF R T o g 2
(1) T Pmor & a3 @ 2) % 3 w9 &
(8) STl I & (4) SWHE 7 § 3¢ 78
79. | Which of the following economists is not known for his/her contribution to
development economics
(1) Amartya Sen : (2) Nurkse
(3) Marshal (4 Todaro
ﬁqﬁﬁ?ﬁ?—mﬂﬁfmﬁﬁm/wﬁﬁmmﬂaﬁ%ﬁmﬁwm%
(1) e & (2) T3
(3) =i (4) 2=
80. | If three countries grow at equal rate, then after 10 years

(1) these will be equally developed
(2) need not be equally developed ¥ .
' (3) will be equally developed only if these ountries were at the same
- level of development

(4) none of the above = o

AR AT T X W IR w1 E @ 10 9f gverg

(1) 7' 999 &y § Reig a9

(2) w9 & |} R 8N A smEwwa W

€)) W*@q%ﬁmﬁe’ﬁn%ﬁ%%ﬂﬁm%wmwa

@) SwWE ¥ § 9 78
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81. | With inbreasing awareness of harmful consequences of environmental
‘pollution, cetris paribus, share prices of luxury cars will
(1) decrease -(2) increase

_t (3) can go in either direction ' (4) none of these

R S & AP RO A aedt gE A S A, qﬁmmﬂgﬁaaﬁ
RaraE F & dT T

(1) =3 e BAREE
@ FhARTMATMERIE (D T B T

82. Major contribution of Keynes that distinguishes him from hlS pre-decessors
is his theory of

(1) interest rate distribution

(2) taxation

(3) price

(4) equilibrium at less than full employment levels . :
F=1 N TIE IRH S 5 IR I gl @ ST FHI 8, T ﬂfﬁ@ﬁ%’
(1) &9 K Fwer

@ FTEE

@ T

@ flﬁmrf B T T

83. | InIS-EM framework diagram shows equilibrium levels of

? ..'

RNy SN s o

(1) Income and employment
(2) Employment and rate of interest
(3) Inflation and rate of 1ntereat

(4) rate of interest: and mcome
Is-LMm%ﬁﬁaﬁqa%mﬁﬁﬁm%

(1) 3@ T JFTW v (2) AR T AN B R
(3)gmﬁf%ramarrﬂ'¢?rﬂ (4)ma%ﬁamam
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Ifl.f)ﬁ"“ Questions

84. | Normal or usual aggregate consumption curve will cut ‘Y’ axis at
(1) origin : - (2) at positive value

(3) atnegative value . (4) any of the above

ARMHI ST AR T S 3 Yorg & @@ g

@ (2 T AW

(3) FTEE T W @) SREEANE

856. | Which of the follqwing is a transfer payment

: (1) Wages of workers (2) Interest on bank deposits
(3) Rentofa building (4) None of the above
T # /@ Siv-ar sieRer g ¥ ?

(1) =l &t Aol (2) % T W| =

(8) 6l W @ e (4) SWH T & %K 75

86. | Disguised unemployment is more likely to occur in

(1) market economy (2) developed countries
(3 under developed economy (4) none of the above
gl g R 3 orfs B A e B

(1) TR adformenr § (2) Rk 398

@) o9 fofta szt ¥ (4) e § @ 2% T

87. | Capital formation is a process of 4 ;

(1) generation of saving

(2) construction of buﬂdmgs = S

(8) deposit of savings in banks

(4) creation of additional productmn capacﬂ:y

st fafor w afiear @ M

(1) o F fmior (2) w59t = fmior

| @ SHAqwd Fw AT (4) afRem SO g9 a7 R
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‘Development is the best contraceptive’ implies
(1) With development more effective contraceptives become available
@) To central population growth, contraceptives are not needed :

(3) With economic development, rate of growth of populatmn will come
down in due course

(4) None of the above

“Ryrq TaTET I9E B R e §

) m%wmmmmaﬁ%

(2) aﬂa@nqﬁmﬂw%mmaﬁﬁwaﬁ%

(3) o s @ e, T $ Y e g B AR s
() IRE F § FE T

89. | Lewis model of development was based on

(D) surplus labour in traditional sector
(2) urban unemployment
() hboth of the above
4) none of the above

R 1 g9 Hied U o1

(1) TOE & | iR o W

@) @Y IAFH |

(3) S Al ;

(4) SR § § B3 T & -

90. | InSouth-East Asia, highest ranking i in terms of human development index
is generally achieved by bic _ ’
(1) India - "% (2 SriLanka
(3) China (4) None of these
W@‘m%wﬁm@m%qﬁﬁwwzﬁwm%

(1) 9Rd A ‘ @2 = d& A
@ | @ T A B T
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91.

If cash reserve ratio is increased by RBI, it will lead to
(1) decrease In money supply

(2) increasein money supply

(3) inflation

(4) none of these
qﬁRBImWwe@mwﬁmw% ﬁrua%mw
D Fuem & #h @tk (9 CURCEL (e e - T T
B) Ty # o @ ¥ A B 7 # o

92.

If currently one British Pound ex¢hanges for Rs. 80, appreciation of rupee
will imply

(1) One British Pound will be available for less than Rs. 80.

(2) One British Pound will be available for more than Rs. 80.

(3) Studying in Britain will become costlier for Indians.

(4) None of these. -

AR X F o fifewr qeve @ R 80 %, g g g, mﬁimq&mmam
(1) T s evs 80%. § %7 & suywey Ay

(2) T WY W8T 80 5. F iR ¥ Tumer any

(3) Wt & R BT & gord wEd & sy

4 T FE T ' : j 4

93.

Progressive tax policy implies greater reliance on
(1) Excise tax : (2 ;'Indirenct‘ taxes
(3) Income tax 4) .None of these
Wﬁsﬁaw%ﬁwwwwaﬁsﬁam%
(1) 3qOR FT @) e a3

@) smF @ T § 7 7
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94. | Say’s Law implies
(1) demand creates its own supply
(2) supﬁly creates its own demand
(3) both of the above
(4) none of these
& o P 3 FO R
(1) WFT sE SR @E S :
() Rt SR =T @ S 2
(3) ST &l | :
@) T q K T

95. Incre_afse in usagé of credit cards will lead to demand for money
(1) Increasing (2) No effect | '
(3) Decreasing (4) None of these
S o1 3 ST ¥ o W B R AT A # A A e
1) 3= (2) e
@ Fh | @) T q HE T

96. | If an agricultural farm has work for only 4 persons and five members of a

family work on this farm, it is a case,of

@) dxsgulsed unemployment (2) opén unemployment
(8) full employment 2 4) over employment -
3 % Y B T e 4 et  fe ¥ qen g we o Rl o 3 9
O ghgRemaE - (@ g I @
®) gu?aﬂmsm | (4)axfaaq11n*rasr'
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97.

If rate of growth of country ‘A’ is 7:4% and for country ‘B, it is 7.2%, then it

- can be concluded that
(1) Country ‘A’ is developing faster

(2) Country ‘A’ is growing faster

(3) Both of the above

(4) -None of the above

AR 3 A’ B gRE B T 7.4% R 71 3 B’ RiQ 9 7.2% & 79 98 RO e
ST T ©

(1) WA’ A a7 9§ o X @R

@ WA S INIgFe @ ?

| 3 S9Ue

4) mﬁaﬁéqﬁ

98.

Coexistence of modern and traditional economic structure is called

(1) mixed economy (2) growth paradox
(8) economic dualism (4) none of these
HMYFF T R % 3l & He oI ® Fal o &
(1) ff¥a e ager (2) giE e

(3) i & @ T & 7 7

99.

In Rostow s theory of development, different stages relate to

(1) population size | %
(2) rate of growth of population { &
(3) composition of national income

(4) all of the above S5 -
e & A 3 frem |, e WQ Hefa €
(1) e $ MER 4

() U ™ F €& 4

(@) IWF T |
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100.

Theory of vicious cycle of poverty is

(1) primarily an explanation of why countries are poor
(2) primarily an explanation of v;fhy individuals are poor
3) prmlanly a strategy of poverty removal

(4) none of the above

e & gy H R @
(1) w9 § 78 e [ 39 || e g

(2) e w7 & U aren B ate ®@ T §
' (3) i w9 T geR # O TR R

(4) IR A 4 F3 78
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